

$$\lim_{X \to 2} \frac{\chi^{2} + 1}{1 + \frac{1}{2}} = \frac{1}{2} = \frac{1}{2$$

$$\lim_{X \to -5} \frac{X^{3} + 125}{X^{2} - 25} = \frac{-125 + 125}{35 - 25} = \frac{0}{0}$$

$$= \lim_{X \to -5} \frac{(X^{2} - 35)(X^{2} - 5x + 25)}{(X - 5)} = \frac{25 + 25 + 25}{-5 - 5} = \frac{75}{-10} = \frac{15}{-2}$$

$$\lim_{X \to -5} \frac{(X - 8)(X + 8)}{(X - 69)(X + 8)} = \frac{64}{(X + 64)(X + 8)} = \frac{1}{160}$$

$$\lim_{X \to -64} \frac{X - 64}{(X - 64)(X + 8)} = \frac{1}{160}$$

DERIVATIVES - represent the slope of a line tangent to a came at a given point.

Relead

$$f(x) = x^{2} - 3x^{2} + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x^{2} + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + 2x + x + 1$$

$$f(x) = x^{2} - 3x + x + 1$$

$$f(x) = x^{2} - 3x + x + 1$$

$$f(x) = x^{2} - 3x + 1$$

$$f(x) = x^{2} -$$

$$f(x) = 3x^{2} + 4x - 5 \qquad f(a) = \lim_{x \to a} \frac{f(x) - f(a)}{x - a}$$
Find  $f'(a)$ .

$$\lim_{x \to a} \frac{3x^{2} + 4x - 5 + (3a^{2} + 4a + 5)}{x - a} = 0$$

$$\lim_{x \to a} \frac{3(x^{2} - 3a^{2}) + (4x - 4a)}{x - a}$$

$$\lim_{x \to a} \frac{3(x^{2} - a^{2})}{x - a}$$

$$\lim_{x \to a} \frac{3(x^{2} - a^{2})}{x - a}$$

$$\lim_{x \to a} 3(x + a) + 4$$

$$f(x) = f(x)$$

$$3x^{2}+1x'-5x' + 6x+4 = \frac{1}{4}x^{n} = n \cdot x^{n-1}$$

$$x^{2}+1x'-5x' + 6x+4 = \frac{1}{4}x^{n} = n \cdot x^{n-1}$$

$$x^{2}+1x'-5x' + 6x+4 = \frac{1}{4}x^{n} = n \cdot x^{n-1}$$

$$x^{2}+1x'-28x' + 3x^{n} = n \cdot x^{n-1}$$

$$x^{2}+1x'-2x' + 3x' + 3x'$$